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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2023
Sixth Semester
Economics
Major Elective _ PLANNING AND GROWTH
(For those who joined in July 2020 only)
Time : Three-hours S l‘ ) Maximum': 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL quéstions.

Choose the correct answer :
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Economic development refers to the problems of

(a) developed countries

(b) under developed countries

(¢) industrial countries

(d) urbanized countries
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An increase in the will result in the

economic growth.
(a) capital - out ratio
(b) capital - labour ratio

(¢) prosperity to consume

(d) prosperity to save
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The wvicious circle of poverty points out the
connection between

(a) income and population

(b) investment and tec};nology

(¢) productivity and income

(d) savings and capital
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determines the amount of savings.
(a) Capital (b) Investment

(¢) Income (d) Trade

Page3 Code No.:30412 B



6.

‘Bevs &@gg'e‘s Gemium® ———  eranp
QuumLér QAsTLiiyemrwg).

(<) W.W. GrnevGLm

(<) Grémir préen

(@) edievGloer

() Gugm umed. N. GurQesrcvenLer Gm_eir

The theory of ‘Big push’ is associated with the

name of

(a) W.W. Rostow

(b) Ragner Nurkse

(¢) Hirschman

(d) Prof. Paul. N. Rosenstein - Rodan
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According to Nurkse, in under developed
countries affect economic development.

(a) religious factors
(b) vicious circle of poverty
(c) entrepreneurs

(d) surplus labour
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Harrod’s model of growth depends on
(a) Capital productivity
(b) Saving - income ratio
(¢) Both (a) and (b)

(d) Labour productivity
CerGamafetr wrdlfudld, ' (5 Guwbul L
@un@mngnqg,g]m e are eueriss) efldgwmang
QD (7Tl 657 &(& &,

(;51) 2 g5reung eueniesl aigb
(=) SiepiwliulL 'GJGITF'T&@ aigb
@) @uéy aeriéd afsid

(r) GG 2_6Tem Bersgib

Page5 Code No.:30412 B



NN

I Qolow’s medel, the long run rage of grow th of an

Ylavwata
ALY -
frarntas

advanced coonany eqnsis
@ Warranted growth rate

O Attained growth rate
(@  Natural growth ate

@ Al the above

A ) N s 3vr A
N & ATl
N N
y & L3 2 v st
AR QT AE LSRR LR
{ WIAN QRN oy O Q
2 y R TR
'Ac:tt,.u‘.' ‘\35 N
P
D , T \ Qs s
(@) UTRIRTASILLA (T [ENRS

Planning by direction s an integral part of n
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gector was given more importance in the
first five year plan.
(1)  Agricultural O Industrial
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PART B -~ (3 1 & = 20 marks)

Answoer ALL questions choosing either (a) or (b,
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Explain the concepr of gross national vroduet
as o merhod of measwrement of economic
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Show how market imperfection s an obstacle

to cconomde development,
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Briefly explain the Schumpeter's theory of

economic development.

Or
Bl e ARE (@D Ty A
Sl e = Gl ST GUpEs
GCeniluriew &aga.

Appraise the Harrod - Domar model of
econemie growth,
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Interpret Joan Robinson’s model of capital
accumulation.
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Point out the objectives of economic
planning

Or
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Comment on the planning by direction.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.
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Difforentiate economic development from

economic growth.

Or
aarrsdueLwrs  prRssfar  Queéysemer
Saudés.
Narrate the characteristics of under

developed countries.
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ldentify the socio-cultural factors that affects
economic development.

Or
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Show how agricultural sector is an

constraint for economic development.
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Critically explain the Marxian theory of

" economic development.

Or
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Explain the concept of unbalanced growth.
Also state its limitations.
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Discuss the Rostow’s stages of economic
growth.

. Or

CenCameflen famL smed QummeTTSmy cueTi&sl
wrdiflew uglunie] Cewls.

Analyze Solow’s long run economic growth
model.
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What is inducement planning? Also state its
merits and demerits.

Or
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Tabulate the achievements of five year plans
‘in India.
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